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% | IBHz AN %| IBf & (QtHES-Y)
EEhH 5 61.0 7 933] 34 13
EFM 16 453| 18 850| 32 14
7= 22 405| 25 78.3 15 18
BmEm 11 51.8 8 928 20 1.8
g™ 28 347 9 916| 16 18
JAlET 22 405 24 786| 26 1.7
BEM 9 55.6 5 937 22 18
TiEFKT 6 60.7 1 96.8| 33 14
A+ 7 580 12 887 11 1.8
&M 3 65.3 11 888| 25 1.7
EFEH 27 350, 20 82.0 30 1.5
BERT 8 57.5 15 860[ 31 15
Z= L FI BT 20 422 3 939 29 1.6
FH EF BT 12 510 27 749 27 17
T HAT 21 414 6 935 17 18
B11IES] 25 389| 30 70.0 1 2.3
B 10 55.1 33 433 3 2.3
=EaAT 1 92.1 3 93.9 9 1.9
P NTI:) 26 360 16 854 23 1.7
REHT 30 303 21 81.6 18 1.8
T {kHET 17 443 23 80.2 6 20
KINAE 29 31.1 34 39.9 2 2.3
LNDHET 19 433 13 883 19 18
1= I BT 31 302 31 69.9 13 1.8
th + {£HT 18 44.2 22 80.3 28 1.6
& )11 BT 32 260| 28 747 12 18
pegsilg 15 486| 10 912| 14 18
HERET 34 45 32 498| 10 18
BE#t 13 50.6 17 85.2 8 20
FEEFET 2 69.1 14 88.1 5 20
e 75+ BT 22 405| 26 75.4 7 2.0
X BHET 33 219 19 835 24 1.7
=RA 4 65.2 29 74.2 4 2.1
£ BRET 14 50.1 2 94.1 21 1.8
EHE 46.8 84.7 1.5
B = SHAF4RTH SH4E4R1H SF5E
32 41 = &0 1E MDY o = &0 1E M e EEEX{0}i:3: N
=g AR DBEHIK R SHE QBRI EREAAES
HFR BIERER BERE ErxaamEEsR. BBA
x5 EESZEE et

76. HETF AR R E

—136—

0 4pkm
S S N E—




=3

I j;; 79. XTABMBENY [80. TEBHTSER (81, LA EHMK

LZER O BFASED] B AAOFALSED| B AAOFALEY)
=G 4 1.69 6 1.84 4 3.92
i 19 0.89| 17 1.06] 26 0.71
7= 2 2.05 3 2.41 3 421
BmEm 8 1.35 9 1.41 1 9.78
T 11 117 14 117 11 1.98
JAlET 12 1.12 12 1.21 8 2.09
BEH 32 056 33 0.56 2 427
TiEFKT 27 0.71 26 079 20 1.08
A+ 15 1.06| 11 128 13 1.74
&M 23 078 24 0.87 19 1.08
EFEH 16 1.05 16 1.09 18 1.23
BT 18 089 22 089 23 0.87
= FIET 5 1.64 5 1.96 15 1.60
R EFHT 24 078| 27 0.78 6 2.69
T HAT 3 1.99 1 279 25 0.77
B11IES] 22 082 25 0.82 - -
B 10 1.20 13 1.20 - -
=EaAT 13 110 15 1.10 7 2.45
P NTI:) 30 0.60] 31 0.60[ 10 2.04
REHT 1 2.39 2 269 22 0.88
T {kHET 14 1.08 10 1.35 16 1.59
KJF - - - - - -
LNDHET 21 087 19 0.96] 17 157
1= I BT 17 1.01 18 1.01 21 0.98
th + {£HT 33 0.48 30 0.64 24 0.77
& )11 BT 20 0.89| 23 089 12 1.76
pegsilg 25 0.76| 20 0.95 5 2.98
HERET 31 060 32 0.60 9 2.06
BE#t 7 1.43 7 143 31 0.20
FEEFET 26 0.72 21 0.90 29 0.53
e 75+ BT 9 1.24 8 143 14 1.70
X BHET 29 064 29 064 28 0.62
=FE# 28 068 28 068 27 0.67
2T 6 1.51 4 1.98] 30 0.28
=EE 1.36 1.49 3.29
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